1.

ohe 1w 2ol b, A2l Bols} 242}
8cm, 6cm Q1 2AFZFSE ABCD 7} 9t} A
A oA tiZHd BD of W= =419] ZHol=?

@ 4cm @ 4.8cm

@ 5cm ® 52cm

/ \\\

/ T

Il \
6cm| \

l\ H

\

B C
3@ 2 \/gcm



A

BHA 50 Aol 7} 14 Q1 9 el ALz o]
v

olet. AAZER o] @ o] Zole 7

e

728\
N7

D 10v2 @ 123 @ 1242 @ 14vV3 ©® 142



o, 2 o ghe Fstole
AiZeolrt,)
® 16 @ 18

® 20




4. o2 Y} Fo] /ACB = A
45°, /CAD = 30° & o}, x ] Zo]

=7




ohg T3 ol @ wel Zol7h 10 ¢l A4
2t WsH: At 91k 92 T3
ofmj At Rl WolZta+brn 2t b-a
o] 72?7 (&, a, b= 215)

@ 50 @ 100 ® 150
@ 200 ® 250




@ V13

@ 2V13 @ 3V13 @ 4vV13 ® 513



